What Phase is it?



Name ________________________

Substance
Melting/Freezing Point
Boiling/Condensation Point
Hydrogen

-259



-252
Helium

-272



-269
Carbon

3827



4197
Nitrogen

-210



-196
Oxygen

-219



-184
Neon


-249



-246
Sodium

98



883
Aluminum

658



2467
Potassium

63



759
Titanium

1670



3289
Chromium

1857



2672
Iron


1530



3000
Nickel

1453



2914
Copper

1080



2595
Zinc


420



907
Krypton

-157



-153
Silver


961



2163
Tin


232



2603
Iodine


114



185
Gold


1065



2857
Mercury

-39



357
Lead


328



1740
Uranium

1132



4134
Circle the phase or state that the following elements would be at the given temperatures.
1.
S
L
G
Hydrogen at -200 degrees Celsius.

2.
S
L
G
 Helium at -270 degrees Celsius.

3.
S
L
G
 Carbon at -200 degrees Celsius.

4.
S
L
G
 Neon at -240 degrees Celsius.

5.
S
L
G
 Sodium at 0 degrees Celsius.

6.
S
L
G
 Titanium at 2600 degrees Celsius.

7.
S
L
G
 Chromium at 2700 degrees Celsius.

8.
S
L
G
 Nickel at 2700 degrees Celsius.

9.
S
L
G
 Zinc at 2700 degrees Celsius.

10.
S
L
G
 Krypton at -152 degrees Celsius.

11.
S
L
G
 Silver at 990 degrees Celsius.

12.
S
L
G
 Tin at 990 degrees Celsius.

13.
S
L
G
 Gold at 1000 degrees Celsius.

14.
S
L
G
 Mercury at -20 degrees Celsius.

15.
S
L
G
 Lead at 1800 degrees Celsius.

16.
S
L
G
 Uranium at 1700 degrees Celsius.

17.  Which elements from the table would still be a solid if the temperature were raised to 1500 degrees Celsius?  (there are 4)

18.  Which elements from the table would still be a gas if the temperature were lowered to -200 degrees Celsius?  (there are 3)

19.  Which elements from the table would be a liquid if the temperature were 800 degrees Celsius.  (there are 5)
